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48 |RERHEHEER —k=Et | 4 1| EELEEFREZEMDE (ERD 1,104,800
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82 |#RTHETEIER —RE=Et | 7 3 |RMERNEXEMEZHEMDE 0
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100 [FRIZER —fME=E | 4 2 | Rl shist & IR [ 4R (R 22 i <& 4,268,734
101 [IRIER —Beit | 4 2 |CHERGRERFEHDE 86,200
102 |IRIFR —MBE | 4 3 [ R EHLESLERERBERADE 3,818,000
103 |EFER —MR=Et |5 3 BEBGRMESEREREDE 615,000
104 |EXR —fgRE | 5 3 BEAARERFEHDS (REFAREREE) 50,000
105 |EZER —fk=Et | 5 3 BRERGEREXEMME (TESHAKFAER) 15,000
106 |EXR —fk=Et | 5 3 MR EEARESENE 540,000
107 |EHER —fk=Et | 5 3 ERMEFNERRESEMIE 406,100
108 |EXR —fk=Et | 5 3 I RUTRERLERRERIILHME 824,600
109 |E%R —f=Et |5 3 HHRFMGESFMHME 31,000
110 |ERR —fk=Et | 5 3 AR ERBMHEE 1,500,000
11 |EER —f=Et |5 3 |BEYEFFEER LEES 118,000
12 |EER —f&=Et | 5 3 |HHMEXERYE 1,830,000
13 |EXER —fR=E | 5 3 IRARIRMAXIEHEIE 387,000
114 |EER —f&=Et | 5 3 | RRERILEEFNFHEHDE 24,399
115 |E%ER —fk=Et | 6 2 EEEWERERBEGYE 0
116 |EXR —M=E | 6 2 |EXREEXWEYE 2,922,000
17 |EXR —RR=E | 6 2 |BABERERNERNE S ER FAAElE 51,800
118 |EE#R — =5t | 6 2 IMERERFIREEEMEEARIHMHE 2,873,500
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120 |\EEER — =5t | 6 2 |EXBRERERNE 23,627,000
121 |EER —MREt | 6 2 BIXEXEESHEERRIINENE 205,700
122 |EER —M=E | 6 2 IMAREXRBREXEEXRMENE 5,863,000
123 |E%ER —MREt | 6 2 |[t—IT4RVNEEREERRIEFHED S 561,800
124 |EER —M=E | 6 2 EFEREEDE 1,591,800
125 |E%R —MREt | 6 2 |[E—IT4RVNEEREN FHEREDE 300,000
126 |EXRR —M=E | 6 2 EXRBEXEMDE 12,475,000
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130 |EEXR —fEREt | 6 | 1| 3 | FEBERLEEARGEES 0
131 |EXER —fe=st | 6| 1| 3 |MEBEXES 0
132 |ERAR —MRE | 6| 2 | 1 [ RUTEABREEFEDE 27,392,603
133 8RR —MBE2E | 6| 2| 1 BARBHPEOYRZHEIE 350,000
134 | ZREER —MRE | 9| 1| 2 RIAISKREREREDS 3,564,000
135 |FRHER —fe=E | 9| 1| 2 /NERERBRERDSE 715,873
136 | FREFR —MRE | 9| 3| 2 |HERREXIFTIREFESE 720,000
137 |AELHEERR —fREE | 9| 5 | 1 [ RUMXIEDBYEVELIYEXMHIE 200,000
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148 |BERFLOCYR | —M=5t | 9|58 ?‘fmﬁﬁfﬁg"gﬂ?ﬁémﬁ% 2) 30,000
149 |ERFLOWYER | —MBKREt | 9| 5| 9 | RILRILERFEEHENE 3,416,000
150 |EEFLOCYR —MBRE | 9| 5| 9 | RIURERBRS 5,764,969
151 |BRFLIYRE | B | 9| 5| 9 RLUERESBHE 1,660,445
152 |BEERFLOWRER | —MKRE | 9| 5| 9 | HRLRFDRE 63,874
153 |BHELOCYE |—MBEE | 9| 5| 9 | hKULIRER A S 300,000
154 BRFLIVYR —MKEF | 9| 5| 9 ALRBRE 1,000,000
155 |[BERFLOYR|—MBKEH | 9| 5| 9 CHMNEENRESEEWHDS 5,000,000
156 BEHRFLOYE —MKREt | 9| 5| 9 EAXLHRAGGREEHYS 630,000
157 |BRFELIYE|—BKE | 9| 5| 9 | RAULMHEIEBREEHENE 0
158 | EREL SR RILBEES 1| 1| 1 | p e LIRS 29,700,000
159 |JHBA#ATEER —f&Et | 8| 1| 2 RUTHEMASEEER TR 1,500,000
160 |SHBHE —fE | 8| 1| 2 BECERAREREME 120,000
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